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= 49,83, 126 52,206,631 12,372,505
s 300,000 0 300,000
= 431,000 431,000 0
Al 49,108,126 51,775,631 12,672,505
N 2,086,925 2,052,439 A15,514
= 431,000 431,000 0
Al 1,605,925 1,621,439 A15,514
EVeNS 2,086,925 2,062,439 A15,514
= 431,000 431,000 0
Al 1,605,925 1,621,439 A15,514
N NCER-E) 1,004,4% 1,310,010 A15,514
201 gt 207,99 223,510 A15,514
01 At2el| 121,924 137,438 A15,514
OYpragt| 121,924 137,438 A15,514
—ATARLTAL 2| SEAAI(15E2)
73, 10024 %188 74 433l 41,229 46,530 75,301
—AFDLETAIL H2 S AAI(0ES)
329,30021 18871 £+ 13l 61,909 69,748 A7,8%9
—ARDECAIE SELAFS SEAA
HI(2HE) 48,8002 %1887 A #23] 18,349 20,680 ~2,331
—AABLEAIE B FRAAI(9ES)
218,500 x20H A 13| 437 480 43
sz 2,667,000 2,777,000 A110,000
PN 2,667,000 2,777,000 A 110,000
S ENEE-T) 2,667,000 2,777,000 A 110,000
401 AIZHIL S| 2,667,000 2,777,000 A 110,000
01 Al 2,665,000 2,775,000 110,000
OLY ZBEI+H2IAlL 1,338,000 1,354,000 216,000
— MBS X i DA 606,000 604,000 2,000
—ZX Msolgws D 77,000 82,000 5,000
—22I|S AALSI| ROEY D 70,000 76,000 26,000
—B2IE XI5t DIAFRAIE EIHA 125,000 130,000 ~5,000
—EHBOM(ANL SE,88) HOEY 0
A 170,000 172,000 £2,000
OME BRoHEHMEIAIL 522,000 580,000 58,000
~EHEDX LSEID Dj| 85,000 91,000 26,000
—Z01 WED| WH 2 HELOISVD) 86,000 89,000 ~3,000
— A RE DA 351,000 400,000 49,000
Oty 22H4H2lAlL 374,000 385,000 A11,000
—AHHHAIAE DR 250,000 255,000 ~5,000
—WED| D 2 MRS 124,000 130,000 26,000
OEST=ES SEIPNP= 329,000 354,000 A25,000
—02, ZE J|MaE HEL(OIsxD) 175,000 200,000 25,000
O=LZZHIAL 39,000 37,000 2,000
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SA-3Y - SA(SAH) - MRAY - B Off &4 I8N BlunsZ
—=E8EI g 2 WA 39,000 37,000 2,000
Otlds JIEER XelAlZ 63,000 65,000 2,000
—Z2LI0t A=D1 X 63,000 65,000 A2,000
Wees(aote=21) 45,130,201 47,377,192 N2,246,991
= 300,000 0 300,000
Al 44,830,201 47,377,192 N2,546,991
WRHeHXIE 45,128,814 47,375,805 N2,246,991
= 300,000 0 300,000
Al 44,828,814 47,375,805 N2,546,991
WRHehXI= 45,128,814 47,375,805 N2,246,991
= 300,000 0 300,000
Al 44,828,814 47,375,805 A2,546,991
01 JIERIASEES 45,128,814 47,375,805 N2,246,991
s 300,000 0 300,000
Al 44,828,814 47,375,805 12,546,991
2 SIILEEANBHTHES 5,728,078 5,631,078 97,000
OAlg2elsH 5,728,078 5,631,078 97,000
03 BIILELEANN=2HES 39,400,736 41,744,727 A\2,343,991
Oat==371g S 29,754,168 31,726,489 ~1,972,321
Oa+==3ILSLA(E=X T XLy
T SSHEANY SEWRA) 300,000 0 300,000
s 300,000 0 300,000
Oot=E=371g S 8,622,134 9,293,804 A671,670




